Grade 10 Reading Assessment Readers’ Responses
Sunk! Canada’s Worst Maritime Disaster

Question # 3 EXEMPLARS

3. To this day, the exact cause of the tragedy has not been determined. Using information from this selection, how might you explain the cause(s) of the disaster?

Level 1

Limited: makes
simple
unsupported
inferences and
interpretations;
may be illogical
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Level 2

Partial: makes
and supports
simple,
reasonable
inferences and
interpretations
with some specific
evidence.
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Considerable:
makes and
supports logical
inferences and
interpretations
with specific
evidence.
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Level 4

Highly effective:
makes and
supports logical,
insightful
inferences and
interpretations
with specific,
convincing
evidence.
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